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2b. # AcB or AcC & AC(BUC>

xeB or xeC &) xe€ BuC  Definilion

(-I-vfof_)
> false
é false A: %b)cg ; B = 3\9%5 C:?c‘i
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j. AcC i BeD=> (Ax® =(CxD)

Given Acl and B <D

Let () e AxB .

We ant 4o shaw that (oD e CxD .
omeAx» 3 XeA kyeB

AcC # xeC ., Bep=yeD
XeC & jeb = (X)ﬂjéCx’D



K AcC o BeD & (Ax® <(CxD)
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K. AZQ/ )E):%b} 3c:D:§C§3b¢C
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AclC gl
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K. AcC MdB¢D¢(A><@¢CCx]>>
[ <= ABzS

/(. Given (AxB) < (¢ xD)
We want o show that AcC and BReD.
Proof : Since A, B 75/@/
FoeA o beR. (2)b)c AxB
A<B) « (CxB) = (&) eCxD
JaeC o0 bsD
Since ac A > aeC}W¢ have ACC

beB > IoGD’ we hae B, _
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